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ggboboboooobobooooobooo
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— bDboogooobbod
— 0Doboooooboo
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— n-out-otN OO OO0OO
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goggobbbbbbbooooobbbbobobboouuooooooboon
0000000000000 0 (boobo0O)00000o0o0ooooO (ooo)
gbooboobobiookKOooboboobooboooboboobooobog
gbobooboobogobooboobobobboobbobobobboobo
000000000000000000O0n-out-of-NODOOOOODO [1:N]OO
nOUO00000000o0ogobogoogooobogbobobboobon
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goooooooboooboboboboooooobD fOobobooboboooboo
goggobbobbouoogooobbobbbuooouooooboboobooad
gogbobbbobbooooooobbbbbbouooooobbboboboodad
gogogobbobobbuoooooobbobbbouooouooooboboobooad
000000000000000000000000000 Sample and Hold [12]
ggooood

ggogobbbbbbduooooobbbbbbuoooooooobbobob
gogoobbobbouoooooobbbobbbodooooobbobboboogad
goggobbbobouooooobbbbbbouooooooobboboboboodad
gogobobobboooooooobbobbooooooobobooboboogad
goggobbbobbbotbodgooooobbbbouooooobobbbooad
gogoobobbobbobtbooggooobbbbbbuoooooobboboad
ggbbbuooobbboooobod

gbogbogbugbuodgbooboobuooboobuooboooboon
b0 xXgbooboooooooboboboobobooboboooboooo
0YOOOOOOOOOX=2000000000000000 f(0<f<1)
gbooboboboobgoobobobbdb Y=y UOobobooooobo
ggobobooggooo

P(Y:y|X:;¢):<§>fy(1—f)w, y=0,1,....2 (1.1)

1.2.2 0O0OO0OO

gggobbbbobddooooooobbbobuooooooobbobon
gogoobobobbooooooobbboobbobouoooooboobobobooad
gogobobodoodd

gogobbbbbodooooooboboobboooooooooboon
ggbboodgbbbuooobbbuoobobbuooobbbuooobbbaodad
gbbogbuogbobogobodbboboobuoobbobbooboooon
gboobobobbooboobbuodobuodoboooboobobobobobbo
goggobbobbodgooooobbbbouooooobbboobood
gogoobbbbbooooooobbbbbbuooooooobobobbboodad
ggobobooodaobon

OO0 DboSOOOOOOO IPOOODOOOOODOOOOOODO SYNO
gbdbogbboobobobobboobudobooboboobboonboobo
gogoobbbbtooooooobbbbbbbooooooobbbboadad
gbobooobooboooboobbooboobbooboobo IPOoO0DbDOO
gogobobbbbouoooooobbbbbbooooooobbbboboodad
gbouogbogbogoobobbooboobooboobuogbboobo
gogoobbbbbbodoooooobobbbbbobooooooobbobobodad
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gogogobbbobbbtbouooooobbbbbbouooooobobboad
ggbbobugoobbbooooboboooobo

1.23 0U0O0O0OUOOO0OOO0OO0oOOn

gbgbudgbuooboobbobbbobboobobobboboboobb
gogoobbobobbodogoooobboobbbouooooooboobboood
gogoobbbbobodoooooobobobbouoooooobbobbboodad
gogooboboobbobotbodooooobobbouoouoooobobobooboogaa
ggbbuoodgbbooobbuooobbbooobbuooobbooobobod
0000000000000 0O00OO0O00O0OO00OOO0U00OODO0O0 (DOo
0)000oooooooooog

gogobbobobbbtoodoooooobbooobobboooooooboboon
googbobbbbobbtbouoooooobobbbbobobooouoooogg
gogoboboobbooooooobbbobbboooooooboboobboooa
gogobbbbooooooobbbbbouooooooobboobbboogag
googoobbobobbboodoooo1booodgoooo 1o0ooad
gbbuogbbuogbboobbolobbuoobbuoobbol1bboobobd
gogooobbobbboog1l1obbobodgooooooboboboobboogad
ggbbbulgogdgbboboooobbbuoooobbbuoooobbodao

000000000000000000 (SwW)oooooooooooooo
0000000000000 000 (SW)Ooooooooooo (BW)ooo
0000000 (D00oO0)00oooOoOo0ODO0O0Ob0 BWOOOoOoooooo
goboobb Bwihooboobooobobooobbooobobooobboood
oooSwO BwOOoOOoooooooooboooooobooooboboo
00000000000 Jw)0oooooooooooooooooooooo

O0bD0oobDOo SWOoOObO BwOODoDOooDoooDooO TswODO O Tegw O
gbooboboobobuoo IswOooooboobobooboboobg
Ispgw DOOOO0OO0O0ODOODOOOOODOODOODOOOODODODOODODO
ggobbobbobodooooooobbbbbouooooooobboboobboboodad
goggobbob20ddg3tugoouoboooboooooooobboobood
goggobbbbbougooobobbbbbouooooobbobobboboodad
ooooboooobOoboooooboobooboooswooooonD BwW O
000000 (000000000 0)0000000O0000OoOO0O0ooooo
gogbboobuogoobobooooboo

1.3 00O
000000000000000000000
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000000000000000000000000000000000000
0000 (V000 (V0000 (1)000000
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0000000000000000000000000000 20000000
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000 (2000 (00000000 (2)000000
04000000000000000000000000000000000
0 TCPOOOO0O000O00O0O00O00O0O00000O0O00000O000000
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000000000000000000000000000000000000
00 (2000000
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22 JO00boooboodboogbooooodgood

00000000000000000 R [packets/s) 100000000000
SWOODOOOO Tegw 000000000000000000s* = [RTsw] O
O00000000000000000000»*00000000000000
0000000000000 f0000000000000000000000
0000000000000000000000000000 X000O0000O
00000000000 YOOOOOO (1.1) 000000000 200000
0D yO0OOODOOOOOOOO0OOO0OO0O000O0000000000000000
0y 0000y 0000000000000000000000000000
00000000000000000000000000000000000 »*
0000000000000000 (00000)00000000 e00000
000000000000000

0000000000000 »*0000000000000000000000
00000000000000000000000000yw 0000000000
00000000 e0000000000000000000000000000
000000000 .000000000000000000 ¢ =y* (R, Tsw, f¢)
00000000000

y* = max{y; Pr[Y <y—1]| X =2"] <€}
y
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140 . . .

120

100

80

60

40

20

0 0.0005 0.001 0.0015 0.002
f

021 00000000 y* (R=4,000,€c=0.01)

y_l *
T i T —i
= nlgx{y; ;(l)f(l—f) Se} (2.1)
goooooooooooodoooonoooooonooooooooooon
000Oo0O00000000 e0ODO0DODODOOOCODOOUOOOOy ODOOOO
000000000 z(:<2)00000D00COOOOOOODOO

min(y*—1,z) .
1— % . z—1
> (§)ra-n
=0

0000O00b0O0 21 0000000000000y O000ODODODODO fO
0000000R=4000 [packets/s|0e=0.0100000000000000y*
0000O0Db0DbO00TswODODODOODODOO fOO0O0OO0OO0ODOODOODOOO
swoooobhoooboobobobobobuobuobobobuoboboo
ogoo0oo0oobooobbooob0o0o0obb000 ROUOUODDOOODDODOO
eddggoouoobobbbooooooouoooooboobn

e 000D0ODOODOO f
e SWO OO Tsw [s]

e SWOO BWDO £

0000000000000000000000 1/Rs|000000000O0
uobodoogbdoogbdgdubduoogbooooogbgooagnoad
ggbobobooogbbobooooobobo
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uggno . bDoOooodobbboooobobod

ugd . O0bbOoooooboboogobb <e
ooboobooboboboood <tg+71p_max
gobobooooboboboooobobod

U000 Th mex U0 O00OO0DOOO0OOO0ODOOOO0O0ODO0ODODLODbDObDODOO
oooooboooooboboooobooboOooboogo fFOSWOOD TswO O
00000 (21) 0000y 000D0O0O0OOCOOO0O0O0O0OD0ODOODODDOOOOOO
ggbobobooodabboo

23 UO0OO0OOOOOOO

23.1 0000

gooobbbobbboouooooobobboobbooooooobboon
gbogboooboobob s 00000y obo0bobboobobbobg

goon
To < Tsw + Tsw/k + 7 < Tb_max (2.2)

000070 SWODOOOOOODOOOO0OOO0ODO00O0O000000000 Tsw/k
UBwiOOoOuooooooooooboobobuobooboboboooon Tew
gooobobooboob rOobOo0ObO0Ob0 1BWOOOODOODODDOOoDO
gbobooooooooboobobob Bwioooooooobobobooo
oooooobOoooBWO SWOOoOoooboo BwOoooooooooo
ooosSwoOoooooooboooDo rROODDOODOODOSWOOODOOOD
oobod ROUODODDOOODDOOOBWOLOD BWOODOGOGODDO BW O
oooooboobooooboobooooboobobobooooooo swoood
goooboooboo 1 BWwidoboooboooboooboobo
gogobbobbbooooooobobbobobbouooooooobboob
o0bO0o0obOooobooooo SswooooOooobooo BwoOOoooooooo
ggbbobuooobboboooobboood

T < Tew/k (2.3)

goooswooooo roooboooobooswoooboooobooo
O0ob0OO0 BwoOOOoOoOooOooooooo pwoobooo swooooood
gbooboobo BwiooooobobooooobobooooBwooooonog
0000000000000 G OODOoooooooooBWOONOOOD
ooooboboooooobooooboUo NxfOobooooooobooooooobo
000000000 Cua [packets/s] 00D ODOBWOOODODOODODOOOODO
000000 fCuxIsw/kEO0O00000ODOCOCDOO-s00000000O0DOO

=G (—f sz‘TSW) (2.4)
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O00fCuaxIsw/k0000000000O0DO0O0OODOOOO0OOOODOOOO0

23.2 0O00O0OO

000000000000 000000000Pwp(r) OOOOODODOOO r
[packets/s| 00000000 OOOOOO

Pwp(r) =Pr[Y > y* | X = rTsw]

O000r(r<ROrlew OOOODOO0DO0OO0O0O0O0O0O0O0O00OTsw<y* 00O
0000 r00000 Pwp(r)=0000000rTsw >y 000000
0000 Pwp(r) 0000OO0ODDOODOOOO0OOOODOODOOOOO

y*—1

Puol) = 1= 3 (7T ) pra = s

y=0

000000000000000000000000000000 (00 [13] VL.5)O
o0oobo0oboob0ob »z>» 1000000 fkl1OOODOOOOOODODOO
ggbbobooogbbbooogn

ggbooboogoooo

y*—1

_ (rfTsw)?
Pap(r) 1 — S e=r/Tow I/ Isw)” (2.5)
2
DDDDDDDDDDDDDDDDDDDDD(T<<R)DDDDDDDDDDD
0 Pwp(r) 00000000

00 1. 7Tyw 0000000 [rfTew] < (y*—1)/200000000 (00000
y*>2[rfTsw]+1 00000 )000000000

y*—1 )

T
Pyp(r) <1— Z e*TfTswrfi (2.6)

00 1000000 ADDOOOOO0O0O0rfTsw (>0) 000000000 r0O
ooboo swoooOobooobooboooboobooboobooooooo
000 ([rflsw| > 100000 y*>30000000000y* 000000
0 (2600000 r000000000000O0ODOOOODOODO 2430000
ERERE

0 (25 00000000000y 0 r00000000000C0OOOOO
ooob fisw UOODOODOODODODOOOOOOOO0OOO0OOO0OO0OOOOOOO
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o

X

2 & Tgw =3
A = 0
f f SW

(]

Pyyp(2000)

02 r

0 0.0005 0.001 0.0015 0.002
f

022 0000000000000 (R =4,000, r = 2,000, e = 0.01)

ooboodbD rx filsw 000000000000 ooboooooobooonDo
o0b0o0b0o0o0o0obO0o0obo0oobOooboDoobDbooobDOofIswOOOoO
gogobobbbbbouoooooobbbbbbuooooooobbbbbodad
goooo
gobboooobboobbooboboouobbiodg2200R =4,0000e =0.01
O00000O0OO0DOOO0ODDO r=2000 [packets/s] OOOOODOOOOOOOO
00f0000000000000O0000O000O Pwp(r)DODDOOOOODO
gogbboooobbboooobbuooobobbudy-obbbogobbod
ooo0dbDTszwODOooooobooo fOO00O00DOOOODOOOODOO
bbby boogobbbougobobbboooonoboboogd
0220000000000 r = 2,000 [packets/s] 00 O0D0OO0O0O0O0OOO
flsw OOOO0O0OOOOOOOOO2300000000000000 Tsw O
gboboooboboboboboboboboooofIswbobooboooooo
ggooboboogoobobooodg -0bboooobbooooobbbod
gbooboooooooooooboooooooobn fIswhOooooooo
ggbobobooggbbobooooobobooodgoon

233 0UU0OOon

gbobobuoodoobobuoboogbobobobuoboobobobobd
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1 ~ T T T T T T

Tow =5
Tow =10
Ty =20

o X o -

0.8

0.6

Pyyp(2000)

0.4

0.2

0 0.005 0.01 0.015 0.02 0.025 0.03 0.035 0.04
S Tsw

0

023 fTew 0000000000000 (R=4,000, r = 2,000, ¢ =0.01)

P. OO0 fTSW
00 Tsw>0,f>0, k0000
k+1 CVmaxT
(LG

a <f0maxTSW) < Tsw

> S TD,max

k k

00000000000000 (22)0(23)0000 (240000000

Gx) (x>0)0 2 00000000000000000000000000
0000000000G(x) 0000 GY(x) 00000000000 G'(z)>0
(x>0)0000

(f,Tsw) 000000 POOOOOOOO0O0O000OOOOOOOOOOOOO0O

TSTW e (—f OmZ‘TSW) > G(0)

gbobobooboobooboob

1aXT maXT
fCx sw) +G(f0 sw)

T max 2 k ]'
D_ (k + )G( - k:

> (k+2)G(0)

000000000000 00O POOOOOCOOOOOODOOOOOOOOOG(0)
OoSswioooboobooooooobooogooobobooooooboooog
kOOoOobooboobuoobobobobbobooboobooboo

T _max > 3G(0) (2.7)
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000007 mex >3G(0)000KOO0O0ODODOOO0O0ODOOOODODOODODDOO

K:::{l’z“"’{jz%gTJ'_Q}

O000b00dbD kekKOOOUODODOOO POODODODODOODODOODO

00 2. keKOOOOOOODOOODOOOO POODOOODODO (f Ty OO
ggboboboooobbodao

k 2 T max
f* — + Gfl D_
C'maxiTD,max k + 2
. k
TSW - A T 2TD,max

g 2000000 BOOoOooooooboboobooboooboooog POOO
O00obO0ob0ob00ob00 kekKObODbObDODOODOOOOOf=f0O00
Isw =15y U0000booooboooboobooooooboobooooao

00000 POODOOOOOO fTy 0 kG T me/(k+2) 000000
00ooboskDbOD00 k=k*0O

. _1 { Tp_max
k —ar%géaka (k——i-2> (2.8)

ooooooooO0O0O0 POOOD fOTewOOOO f=f0Tsw =13y U
gogbbobuoggbbbod

k* + 2 —_ TD max
* G - 2.9
f ChaxID_max ( k* +2 > ( )
* k*
TSW = k* + 2TD,max (210)

232000000000 fTsw 0000000000000 000000
00 fO0000000000000000000000000000000 &0
TewwO 000000000000
1.0 (28)00(210) 0000 k=k" 0 Tyw =Tgyw 000
2.0 (290000 f=000
3.0 (21)0000 y* 000

y*—1 *
4. [ = argmin{z (mT.SWW)fi(l — f)ngW]_i < 6} Oo0og
f

(3
=0
f=f000

2.4 0O0O0O0O

obooboboboboobooooboooboobosSswoooooooboooboo
0000000000000 000000 CAIDADOOOOOO [p|00O000
OooooooDoonO 20090 50 3100 6:0000 6:000000 10Gbps O OO
gbobodgbbooboooboobsogbbuodobboon 152,593,821 000
gbogbboobooboobobobobbobses0400b00onDon
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021: 0000000000 (To_max = 10)

. 3 e =0.01 e =0.05 e=0.1
R k TSW f** (X1074) y* f** (X1074) y* f** (X1074) y*
1000 8.679 3 9.452 5 9.577 6
2000 | 61 | 9.6825 8.985 9 9.401 12 9.181 13
4000 9.511 24 9.613 28 9.604 30

241 0000

O00000oD0obOooo SswoOobOobOooooooooooBwOOooo
00000000000 (DOD0DoDUDUDUD0D0DoDOoOoOooO)oooooooogd
gogobobooooooo

G(xr) = Ax + Ay
A, [s|000000000000C0O00000O0000O0O000O0O0OA,[sjODOO
000000 oOooooOooooOo S WoOoOoooooooooooodA, d
dddddooo swWwioooooooooooooooooooooooooo
gboooooouoouoodooooooonooonooonoooonoooon
000 (27) 00 Tpmex >3A, 00000000000
00000k 0000 k*0O00000D0DO0Oa

k
arg ma To max — kAo 7, To max > 9A9/2
o [ e { o} Do = 98
1, 3A2 < TD,max S 9A2/2

goon

_ 2TD,max 2CTD,max
= |/ R 9 =]y -2

00007, 00 (21000000000 (29 00000 0000000000

e Tp_max — (K" +2)Ay
fr= CrmaxA1TD_max
0000000 Ay =5x104 [j0A; =5x 103 0000 Chax = 2 x 10°

packets/s] 000000 Tp e 000000 T max = 10,20 [§] 000000
oo oooooooooooog R=1000,2000,4000
[paCketS/S]DDDDDDDDDDDDDDDD e = 0.01,0.05,0.10 000 0O
goooooooz30b0b00000goooooooooooobononoonoon
od 2100 220000

242 000000

000000000000 00000O0O000oooooOOoOoO f=10(00
oo0o0o0oDoOoDoOO0O0O)00000000000000000000000 &



240000 19

0220000000000 (Tpo_max = 20)

. 3 e =0.01 e =0.05 e=0.1
R k TSW f** (X1074) y* f** (X1074) y* f** (X1074) y*
1000 9.605 10 9.312 12 9.696 14
2000 | 87 | 19.5506 9.737 25 9.522 28 9.513 30
4000 9.720 o7 9.653 62 9.657 65

0Tw 000000000000000000000000000000000
00000000 40000000 £, 0000000000000000000
000000000000000000000000 SWOO00O0O0ooooo
000000000000SWOOOO0000000000000000000
000000000
000000000000000000000000000000() ¢ > t,
(i) ty = ty, (il) t1 <ty < 00, 000 (iv) =00 00000000 f=1.0000
000000000000000000000000000000000000
000000000000000000000000000000000000
00000000000000000000000000 ()000000000
000000000000000000000 ()0000 (i) 0000 Thmax
00000000000000000000

000 (i) 000000000000000000000000000000
0000000000000000000000000000004 <t 000
000000000000000000000000000000000000
00000000 2RO000000000000 t,0000000000000
000000 Tyw/20000 SWOOOOOOOOOOOOOOO0OO0¢4 0000
000000000000000000 .. 000000000000000
0¢>6000000t6<ti+Thmx 000000000000000000
00000 ((v) 0000D0000000000000000000000000
000000000
0000000000000000000000000000000 FPROO
oooooo

0000000000

FPR = 2.11
R goobooggn ( )

ggbbobuoooobbooooboobuoooobbobuooobobboood

243 0O0OOO

0000000000 CAIbDAODDOODODODOOOOODOODOODOO
02400 2500000 Tew=9.68250k=610f=1(0 2.100)00000
Tsw =19.55060 k=870 f=1(0 2200)0000000000000000O
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7w b L— b [packets/s]

N

—
=
=

=
Bx

Z>y

024:0000000000000000000000 (Tp_max = 10)

5
0 4000 —

A 2000
107 ¢ 1000 - -

X XX

7w b L— b [packets/s]

J\

E+
=

025 0000000000000000000000 (Tp_max = 20)
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023 000000000000000 (Tp_max = 10)

e=10.01
R Nt (i) t1 > t2 (ii) t1 =t2 (iii) 1 < t2 < oo (iv) t2 = 0
1000 58 57.388 £0.047 | 0.226 +0.030 0.317 +0.034 0.069 + 0.016
0.993 + 0.001 547x 1073 +586x 10 % | 1.19x 10 3 +£2.79 x 10~ *
2000 14 13.813 £ 0.027 [ 0.081 +0.017 0.084 + 0.019 0.022 4+ 0.009
0.992 + 0.001 6.00x 1073 £1.36 x 1073 | 1.57 x 1073 £6.50 x 10~ %
4000 3 2.946 4+ 0.014 [ 0.027 + 0.010 0.024 4+ 0.009 0.003 4 0.003
0.991 4+ 0.003 8.00x 1073 £316x10-3 | 1.00 x 10-3£1.13x 10~3
e =0.05
R Nt (i) t1>t2 (1) t1 =t2 (i) t1 < t2 < 00 (iv) t2 = o0
1000 58 54.880 £+ 0.108 | 0.869 4 0.056 1.843 + 0.083 0.408 4 0.040
0.961 + 0.002 318 x 1072 £144x1073 | 703 x10-3£6.86 x 10~ %
2000 14 13.147 4+ 0.055 [ 0.318 + 0.035 0.442 + 0.041 0.093 +0.019
0.962 + 0.003 315 x1077+£296x 1073 | 6.64x 1073 +£1.35 x 1073
4000 3 2.777 +0.028 [ 0.092 + 0.019 0.110 + 0.020 0.021 4+ 0.009
0.956 + 0.007 367 x10727£6.73x 1073 | 700 x 1073 £2.96 x 10~ 3
e=0.1
R N7 (1) t1 > tg (ii) t1 =t2 (iii) t1 <ty <o (iv) to = o0
1000 58 51.849 +£0.142 | 1.680 4+ 0.078 3.593 + 0.108 0.878 4+ 0.058
0.923 4+ 0.002 6.19x 1072 £1.86x 1073 | 1.51 x 102 £1.00 x 10~3
2000 14 12.261 + 0.077 [ 0.558 4+ 0.045 0.967 4 0.060 0.214 4+ 0.027
0.916 £ 0.005 6.91 x 1072 +£430 x 1073 [ 1.52x 102 £1.92x 10~3
4000 3 2.594 4+ 0.036 [ 0.175 + 0.025 0.196 + 0.026 0.035 +0.011
0.923 £ 0.009 6.53x 1072 £856x 1073 | 1.12x 1077 +£3.80 x 1073

000000000000 0000000000000000000000000
0000000000000000000000000000000000000
00000000000000000000000000000000000

02300240 0000 Tp e =100 Tp mee =200000000000
000000000000000 NODDOODOODOOODOO0OO0000000
00000 100000000000000000000 9% 000000000
000Tp w0 e 000000000000000000000CO00O0 f=1
000000000000000000000000000000000 SW O
000000000000 000000000000000000000000
000000000000000 [27]0SWO0000000000000000
00000000000000000000000 ROOOOOOOOODOO0O
000000000000000 260000000000000 SWOOOO
000000000000000000000 ¢ =61Tsw (= Tew) 00000
0O000000000 ROODODODOODO0OODO0O0O00000O00O00O ROO
D000000000000000000 1-000000000000000
00000000000000000000 0000000000000

0000000 (i) 0000 (v)00000000000000000000
0000000000 RODODODODOOO1-«00000000000000
000000000000000000000000000000000000
00000000000000000000000000 «e0000000000
02500 260 Tppax=10000 Tp wee =20000000000000
000000000000 Nwp 0000 (211)00000000000000
0000000 e=0.01,0.050100000 2500000000000000
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024:000000000000000 (Tp_max = 20)
e=0.01
R Nt (1) t1 > 1o (ii) t1 =t2 (iii) t1 <ty < o0 (iv) to = o0
1000 99 21.712 £ 0.034 | 0.140 4+ 0.023 0.130 4+ 0.023 0.018 4 0.008
0.993 4+ 0.001 591 x 1073 £1.03x 103 | 818 x 10T £3.75 x 10~ %
2000 7 6.875 + 0.021 [ 0.071 £ 0.016 0.044 +0.013 0.010 4 0.006
0.992 + 0.002 620 x 1073 +£1.82x 1073 [ 1.42x 103 £8.81 x 10~ %
4000 1 0.984 + 0.008 [ 0.008 + 0.006 0.008 + 0.006 0
0.992 4+ 0.006 8.00 x 1073 £5.52 x 10~ 3 0
e =0.05
R N (1) t1 > ta (ii) t1 =ta (iii) t1 <tg < o0 (iv) to = o0
1000 22 20.651 £0.069 | 0.519 4+ 0.043 0.741 + 0.053 0.089 4+ 0.018
0.962 4+ 0.003 337Tx1077£242x 1073 | 405 x 1073 £8.22x 10~ %
2000 7 6.508 + 0.042 [ 0.244 4+ 0.030 0.208 4+ 0.030 0.040 4+ 0.012
0.965 % 0.005 297 x1072+£422x 1073 [ 5.71 x 1073 £1.74 x 10~3
4000 1 0.922 + 0.017 [ 0.041 + 0.012 0.037 +0.012 0
0.963 £ 0.012 3.70x 1072 £1.17x 1072 0
e=0.1
R Nt (i) t1 > t2 (ii) t1 =t2 (iii) 1 <t2 < o0 (iv) t2 =0
1000 29 19.382 +0.094 | 0.912 + 0.056 1.515+0.074 0.186 4+ 0.025
0.923 £ 0.004 6.80 x 1077 +£338x 1073 | 845 x 1073 £1.13x 1073
2000 7 6.067 £ 0.054 [ 0.375 + 0.036 0.459 + 0.039 0.099 4+ 0.019
0.920 4+ 0.006 6.56 x 1072 £553x 1073 | 141 x 1072 £2.73x 1073
4000 1 0.890 + 0.019 [ 0.056 + 0.014 0.054 +0.014 0
0.946 + 0.014 540 x 102 £1.40 x 10~ 2 0
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025 00000000000 FPR (Tp_max = 10)

e =0.01
R |0000000DODO Nwp (FPR)
2279.53 & 5.41
1000 13602956
(1.68 x 1074 4+ 3.98 x 1077)
84.48 +1.05
2000 13603000
(6.21 x 1076 £ 7.73 x 10798)
7.59 £ 0.39
4000 13603011
(5.58 x 1077 £ 2.90 x 1078)
e =0.05
R |0000000DODO Nwp (FPR)
526.91 & 3.35
1000 13602956
(3.87 x 1075 £2.46 x 1077)
40.50 £ 0.66
2000 13603000
(2.98 x 1076 +4.88 x 107%)
4.7140.23
4000 13603011
(3.46 x 1077 £ 1.72 x 1078)
e=0.1
R |0D000000OO Nwp (FPR)
296.38 + 2.60
1 13602
000 5002956 (218 x 107° 4+ 1.91 x 1077)
29.32 £ 0.59
2000 13603000 » s
(2.16 x 1076 4+ 4.35 x 107%)
3.30 4+ 0.24
4000 13603011

(243 x 1077 £ 1.78 x 1078)
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026: 00000000000 FPR (Tp_max = 20)

e =0.01
R |0000000DODO Nwp (FPR)
1000 13602992 14443 £ 1.51
(1.06 x 1075 & 1.11 x 1077)
2000 13603007 10-86 = 0.57
(7.98 x 1077 4+ 2.69 x 107%)
1.52+£0.18
4000 13603013 (112 x 1077 4+ 1.29 x 107%)
e =0.05
R |0000000DOO Nwp (FPR)
1000 13602992 7250 1.05
(5.33 x 1076 £ 7.70 x 107%)
2000 13603007 6:2520.50
(4.59 x 1077 £2.23 x 1079%)
4000 13603013 067 %0.13
(4.93 x 1078 £ 9.40 x 1079)
e=0.1
R |0D000000OO Nwp (FPR)
1000 13602992 47.35 %093
(3.48 x 1076 4+ 6.84 x 107%)
4.1140.26
2000 13603007 (3.02 x 1077 £ 1.89 x 1078)
4000 13603013 045+ 10.12
(3.31 x 1078 £ 8.54 x 1079)

U27-000000000000 00000000 Nwp OGO

Tp_max = 10
r e =0.01 e =0.05 e=20.1
1000 | 3 /227953 | 5 /52691 | 6/ 296.38
2000 | 9/ 8448 |12/ 4050 |13/ 29.32
4000 | 24 / 759128/ 47130/ 3.30
R To max = 20
e =0.01 e =0.05 e=20.1
1000 | 10 / 144.43 | 12/ 7254 | 14 /] 47.35
2000 | 25/ 10.86 |28/ 6.25]30/ 411
4000 | 57 / 1.52 162/ 0.67 |65/ 0.45
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Tyw = (mxh) Tgy HW: EX MDAV RD
SW:RSATA VT I4V KR
BW: RX—>w o042V R

BW, |BW, |BW, |BW, |BW; |BW, |HW

SWo N Hy=m(h-s)+1 = 3

¢ ¥
N 7

Tw = (mxs) Ty
0 3.1: BW, SW, HW O [
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000000 mOOO0OO0O0OSWO (mxs)0OO BWOOODOOODODOOOOOO

godoodod mOodoooooooooooooooooouooa
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oo bbbobbobboboo
000000000000 00DbO0D0DO0bO00 HsOOoO SWOoDOoooooaog
0000000 [Rlszw) 000000000000 0000 2 = [Rlgw] OO
00000000000 Pr(W <w|Z=2) 0000000 w—1< fz00
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0o0oodooooooooooooogZ i=1,2,...,H) O HW OO 00
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0@32)0 X;(@=12,...,mh) 000 ms 00O DO0O0O0O0O0O0ODOOODOOOO
goog
Xi:Xi-i-ms: i:1727"'7HS_1

00000000000 (3.2)00000000{X,;i=1,2,...,ms}0 HWDOODO
000000000000000000000000000 X = (X1, X2, -+, Xs)
goooboboobboobiob 0000 msOO BWDOOOODOOODOO
ggbbbud I1xmsOUOooooooooon

xeX ={(r1 22 ... Tps); T1+Ta+ -+ Tpps = 2"}

00000000000Y; i=1,2,...,mh)0 HWOO 000 BW O OO
0000000000000 000wW; i=1,2,...,Hs) 04000 SWOODO
ggbobobuoggobbbooooobobooogboooa

Wi=Yi+Yia+ - +Yiqme1, i=12,... Hg (3.3)

00000000000000 wOOOO0OO0O0000 (32)000000000
D0000000000000 Pwlez) (xeX)0000000000000

Pw|lx)=Pr(Wy >w, Wy >w,..., Wy, >w| X =x) (3.4)

HwWOO . :O0O0O SwoOoooooooooo swoboooooooobogo
gboobgoboboboboboobooboob

plw[z") = Pr(W,;>2w| X =x)
= Pr(W;>w | X;+Xip1+ -+ Xigms1 = 2%)

w-l [/
= 1_Z<Z.>fj(1—f)z*j (3.5)
=0 \/
DO000P(w]|a) #p™w|-)00000000000000 W;0 W, (1<
j—i<ms—1)0 Yy (n=4jj+1,...,itms—1) 000000000000
0000000000000 000000 Pw|le)D ze X 00000000
0 (34) 00000 Pw|2) 0000000000000000000 (3.2) O
00000000000000000000000000 uH.e = metee1Coe O
gboootdotootoouoouoouoouoooo

gdoododooooguoooooodoooouoooooouoooo
0000000000 32)00000000000000DO0O00OODOO0OOO
goooooood

p(w | 2") < Plw| @) <pfs/m™l(w |2,  zex (3.6)

0 36) 000000 CDOOODOOOO
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000000000000000000000000 «=(0,0,...,0,2*)00
0000000000000000 BWOOOOO0O0000000000000
0000000000 (32)000000000000000000000000
000000000000000000000000000000000000
000 »*00000000000000000000 == (z},43,...,2%,)
0000000000000000% =2 modms 010000000000

[Zw,isz”wa

. ms
{ J, 1=+ 1,21+2,...,ms
ms

0 37000000000 DOOO0OO0ODO DOOOOOOOOOOAR/sO
gobodb e 00000 bOO0ObOOOoLObO0O0bLbOo0obbOOoobuoobDbo
ooboobooobooobooooobbooooobbo erbOOobobbOODOO
oO0o00oooDbOobO erO0bOo0Ob0O0ob0OoDOoD

0" = max{w; P(w|x)>1—¢ forall € X}
00od ¢oOo0boobooboboboooooooon
0" ~ max{w; P(w|x*) >1—¢€} (3.8)

0000000000000 «£*00000000000P(w |2 00000
00 00000 sO0b0o hO0D0O0O0ODOOODOOODOOOOODOODOODO
0000000000000 0000000000 Pw | 000000OOO
O0D00z*eX00O00O0O0ODO 36)0000000D0O0ODOO

p(w | 2%) < Plw|@*) < pHs/m(w | 27)
00O0O0p(w|2)0 Pw|z) 0 w0DOODOOO0ODOO
6~ <o* <ot (3.9)
gooooogad
0~ = max{w; p"s(w|z*) >1— ¢}, 6+ = max{w; pHs/mIN(w | 2*) > 1 — €}

000000 ¢ 06T 0000000000000 0000000DDO0O0O0OO
0000000000000 000 000000000 00D0ODO (39 000
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000 e000D0O0O0OO0ODOOOODDOOODOOOODODODOO SWOOO
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0000oooono 6, (i=1,2,...,N)ODDODO000000* <6, <by<---<0Oy
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FPR = Pr(W,>w (i=1,2,...,Hg) | Z; < 2" for some j (j =1,2,...,Hg))
< Pr(W;>w| Z;=2"—1)
Pr(W; >w (i #7,i=1,2,...,Hg) | W; >w,Z; = 2" — 1)
Pr(W; >w | Z; =2"—1)
= pw | —1)

IN

00000000000 00o0Ooo00O0 FPR, (i=1,2,...,N+1)00OOO0OO
goog

O000p()00 (35)0000000000¢=10000 ¢*0O0000O0ODO
000000000000 FPR,~10000000000000000000OO
gl1ooboobodoboobuoobuoobuoobooboobooboobo
gooooboooooobooogo oo bOoD 00ob0obbog 34
gogbobooood
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Step 1: j 00 (j=1,2,...,mh) 0 BWDO 20 i=(j —1modms)+ 100
O0000000000O0O0o00oooooooOO0g; (i=1,2,...,ms) 0
0 (370000000

Step2: OO fO0O00O0ODOO0O0OODOOOODOOODOOODOOOOODOO
o00000ooO0ob0obOOoooobOooDobooD erOODODO

0" = max{w; Pr(W, > w, Wy > w,...,Wg, > w) > 1— €},

oooow; i=1,2,...,Hs) 0 000 SWOOOOOODODOODOOOO
goooo

Step 3 0000000000000 O00O0O0OOO0O0O0OOOO00O0O0ODO
oooo00d ¢ ((=1,2,...,N)0O0OOOOO NOOOOOOOOOO
00006 <6, <b,<---<6y00000000000000000
FPR; (i=1,2,...,N+1)00 (3.10) 0000000000006, = 6*
00000000000000000003.600000000

034 000000000000 00000

20000o0oooooooobbbbbobbbbbodooooooooon
oooooo2000 flsw ODODOODOODOOODOODOODOODOODO
ooooboooognD fiswOOODO flwwOOOOOODOOOODOODOO
gboboobol Tsw O Tygw OO OO0OOO0OO0ODOODOODOODOODOODOOO0
ooooobfOo0bo0obOo0ooooobobobooboDobooboooDobobooboOoo
20jdoooooooobobbobbbooddoddooooooooon
oobooobooooooooooooo pwoooooooooboo swoood
HwioOoOooooooobooboobooboobuoobooboobooo
ggboobobooogb 20000004

gbob200bboooboobooobooboobbooobooboboonon
ggbbobuoobobbooooboobuoooobboooon

THW + TBW + G(fcmaxTBW) S TD,max

gogobobbbbouoooooobbbbbbouoooobbbbbbodad
gogobbobobboogooooobbobboooooooboboobbobodad
ggbbbuooobobbooodgn

P ooo
00 f>0
mQOooo
G(fCuaxTBw) < Tw (3.11)
Taw + Tew + G(fCraxTBw) < Tp_max (3.12)
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MOOOODOOOODOOOO

M:{ml,m1+17...,7TL2} (313)

e ggbbobouoogoobbogao

e {h{:rmx f‘}iw —Go)y) W T {hTGZcV» B J

gbooobdg ebgooood

Taw T —T
(%0)<1nn1< IW 2D max HW) (3.14)

h '’ 2
oooooobooobooobooo memMOOOOoooOoooDOOOOOOOD
000000o0o0o0oooOo0o0oooO (311)00o (3.12)000o0ooooooo

ooooooooooooobooonrooob0bobooboobbog OO0
ggbbbuoooobbodao

m* = argmax mG *(u(m)), (3.15)
meM
ko m*h —1 *
= C Tuw G~ (u(m™)) (3.16)

O000w(m)O0ODOOOODOOOO

. (T T;
u(m) = min (%7TDmax - THW - %) 5 m & M (317)
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000000000000000000000000000000000000
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0000000ooo000mu,>m+1 0000000000000 (5.15)0
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